1.

¥} -2x2+a7F x+3 2 Yol ojx &

Qe



2. TR 4 5% —kx—k 7hx—1 2 Lol Hol X R AL & O] g1
Ffoet.

B
=¥



P(x) 7FP(1) =P(2) =P(3) =0

4]

o] A%7} 1 91 43} o}

5

x30

3.

o, P(4) 9] gr2?

© nlxsh
=2 ==

@ 6 3 8 @ 10 ® 12

D 4



a, b, ¢, d ° 5}t abed 9 722

@ 10 ® 50 @ 100

A3 +2x%2-3x+5=a(x-1)3+b(x-1)2+c(x-1) +d

® 200



A f(x)E x - 12 U 5ol A(x), HHA7Fa0lal, x4 22
LR o] B(x), U A7k pabar gk ofuf, A(x) & x+ 22 e
WA S a, b2 GERRE?




5 f(x) = 2+ px+q 2 g(x) = FHTE ATE 2= thdAe],
F(V2+1) =0, g(V2+1) = 2+ V20It}. o] o], g(x) & f(x) & e
U A =?

D x+1 @ x-1 ® -x+1

@ —x—-1 B 2x+1



